ASSEMBLY INSTRUCTIONS

ALAM 6278-1 : COCKTAIL TBL # SKU 22162781

ROOMS TO G®

Manufactured for Rooms To Go

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts, which may have come loose inside the carton during shipment.
Identify and count all parts and compare with the Hardware List below.

No. Description Qty

Part List A Top (Stone) IPc
B Side Legs 2 Pcs

C Center Leg 1 Pc

No. Picture Description Dimension Qty
1 Bolts 5/16" x 19 mm 4 Pes
Hardware List 2 L0 Bolts 5/16" x 45 mm 6 Pes
3 0 Lock Washers 28 x @14 x 2 mm 10 Pcs
4 Flat Washers 08 x @18 x | mm 10 Pcs

5 l Allen Key 5x 75 mm 1 Pc
6 D Dowels @10 x 40 mm 6 Pcs

PART DETAIL

1of 2



Do not tighten bolts 100%
until assembly is complete

WARNING :

] ASSEMBLY COMPLETE \

20f2



ASSEMBLY INSTRUCTIONS

ALAM 6278-4 : COCKTAIL TBL # SKU 22262783

ROOMS TO G®

Manufactured for Rooms To Go

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts, which may have come loose inside the carton during shipment.
Identify and count all parts and compare with the Hardware List below.

No. Qty
Part List A Top (Stone) 1Pc
B Leg 1 1 Pc
C Leg2 1 Pe
No. Picture Description Dimension Qty
1 m Bolts 5/16" x 19 mm 2 Pcs
Hardware List 2 | Bolts 5/16" x 45 mm 4 Pcs
3 0 Lock Washers 08 x P14x 2 mm 6 Pcs
4 Flat Washers A8 x O18 x | mm 6 Pcs
5 L__ Allen Key 5x 75 mm 1 Pc
6 Dowels @10 x 40 mm 4 Pcs

PART DETAIL

lof 2



WARNING :

© Do not tighten bolts 100%
until assembly is complete




ROOMS TO G®

Manufactured for Rooms To Go

ASSEMBLY INSTRUCTIONS

ALAM 6278-2 : END TBL # SKU 23062780

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts, which may have come loose inside the carton during shipment.
Identify and count all parts and compare with the Hardware List below.

No. Description Qty
Part List A Top (Stone) 1 Pc
B Leg 1 1 Pc
C Leg2 1 Pc
No. Picture Description Dimension Qty
1 | Bolts 516" x 19 mm 2 Pcs
Hardware List 2 Uy Bolts 5/16" x 45 mm 4 Pcs
3 0 Lock Washers @8 x @14 x 2 mm 6 Pcs
4 Flat Washers 08 x @18 x 1 mm 6 Pcs
5 L__ Allen Key 5% 75 mm 1 Pc
6 - Dowels @10 x 40 mm 4 Pcs

PART DETAIL

lof 2



WARNING :

Do not tighten bolts 100%
until assembly is complete

ASSEMBLY COMPLETE \




ROOMS TO G®

Manufactured for Rooms To Go ALAM 6278-3 : SOFA TBL # SKU 23962788

ASSEMBLY INSTRUCTIONS

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts, which may have come loose inside the carton during shipment.
Identify and count all parts and compare with the Hardware List below.

No. Description Qty
Part List A Top (Stone) 1 Pc
B Legs 2 Pes
C Shelf 1 Pc
No. Picture Description Dimension Qty
1 (0 Bolts 5/16"x45mm | 12Pcs
Hardware List 2 0 Lock Washers @8 x @14 x 2 mm 12 Pes
3 Flat Washers 08 x 018 x | mm 12 Pes
4 L__ Allen Key 5% 75 mm 1 Pc
5 O Dowels 10 x 40 mm 6 Pcs

lof 2



[Ster 1]
<&

N rh (4) NN WARNING :

®) \t"’i Do not tighten bolts 100%

until assembly is complete

< Leveler

N ASSEMBLY COMPLETE

20f2





